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QUESTION 1
A customer has a Tier 1 application that has high bandwidth and is sensitive to latency.

The customer needs a solution to support this application. The solution must support replication between two sites over
dark fiber links and support an RPO of zero.

Which solution meets the customer requirements?

A. dual HPE 3PAR 9450 arrays with data replicated using RCFC
B. dual Nimble AF40 arrays with data replicated over FC

C. dual HPE 3PAR 8400 arrays with data replicated using iSCSI
D. dual Nimble HF20 arrays with data replicated over iSCSI

Correct Answer: C

QUESTION 2

Refer to the exhibit.

Qty Product# Product Description
1 QOES2A HPE 3PAR 9450 2-node Storage Base with All-inclusive Single-system Software
2 Q7F41A HPE 3PAR 3450+5W Storage Node
] QOES7A HPE 3PAR 3000 4-port 16Gb Fiber Channel Host Bus Adapter
1 L7F18A HPE 3PAR 9450 Data Encryption LTU
2 QOESSA HPE 3PAR 9000 2-port 10Gb Ethernet Host Bus Adapter
3 PIM30A HPE 3PAR StoreServ 20000 Direct Connect Cabling Cption for Drive Enclosure
8 QOESSA HPE 3PAR 9000 24-disk 2U SFF (2.5in) SAS Drive Enclosure
64 QOF44A HPE 3PAR 9000 3.84TB SAS SFF (2.5in) FIPS Encrypted 5D with All-inclusive Single-system Software
16 716197-B21 HPE External 2.0m (6ft) Mini-SAS HD 4x to Mini-SAS HD 4x Cable
2 Q1HI5A HPE 3PAR 1U Rack Accessories Kit
2 QK753B HPE SN60C0B 16Gb 48-port/24-port Active Fibre Channel Switch
48 QK724A HPE B-Series 16Gb SFP+Short Wave Transceiver
1 Q2513A HPE 3PAR 5toreServ RPS Service Processor
8 QK734A HPE Premier Flex LC/LC Multi-mode OM4 2 fiber 5Sm Cable
2 Q9Y41AAE HPE Smart Fabric Orchestrator E-LTU

A customer is planning a new compute cluster. They require business continuity, and they need automatic transparent
failover between sites with an RPO of 0. You propose HPE 3PAR 9450 arrays at each site. The displayed Bill of
Materials

(BOM) shows the hardware and software components for one site.

What must be added to the BOM at each site to build the solution?

A. four additional HPE 3PAR 9000 4-port 16Gb Fiber Channel Host Bus Adapters

B. one HPE 3PAR All-inclusive Multi-system Software Suite
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C. one HPE 3PAR Policy Manager Software license
D. two additional HPE 3PAR 9000 2-port 10Gb Ethernet Host Bus Adapters

Correct Answer: B

QUESTION 3

A customer wants to implement a disaster recovery plan for their current HPE 3PAR array data. They have obtained a
remote site 10km away their primary site. They have performed bandwidth testing, and have confirmed their RTT is
approximately 100ms. The customer needs to provide data replication to assure the best data availability they can
achieve. Which synchronization method meets their needs?

A. Asynchronous Streaming

B. Asynchronous Periodic Remote Copy

C. Synchronous Remote Copy

D. Peer Persistence

Correct Answer: B

QUESTION 4

For customers, what are the benefits of developing a company compliance policy? (Select two.)
A. reduced head count

B. minimized losses

C. improved security

D. improved agility

E. increased time to market

Correct Answer: BC

QUESTION 5

A customer has standardized on Windows Server. They need to ensure that application and storage will move between
sites as one during automated or manual failover. Which HPE 3PAR integrated solution should you recommend to the
customer as a preventative measure?

A. Peer Persistence

B. Serviceguard Metrocluster
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C. Cluster Extension (CLX)
D. Site Recovery Manager
Correct Answer: C

Reference: https://tdhpe.techdata.eu/Documents/TDAS-
Integrated%20Systems/Technical%20White%20Paper HPE%20ConvergedSystem%20700.pdf?epslanguage=en
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